
MATHS

BOOKS - MBD NCERT SOLUTIONS

BOARD QUESTION PAPER (SOLVED) -

2019

Set A Section A

1. Express 0.875 in the form .

Watch Video Solution

p

q

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_R0Msz4ML5DW8


2. Find the sum of the zeroes of the quadratic

polynomial .

Watch Video Solution

6x2 − 3 − 7x

3. The solution of pair of linear equations

, will be :

A. 

B. 

3x + 4y = 10 and x − y = 1

x = 2, y = 3

x = − 2, y = 1

https://dl.doubtnut.com/l/_R0Msz4ML5DW8
https://dl.doubtnut.com/l/_IGBrXoff7WoE
https://dl.doubtnut.com/l/_VNaJSAWAjlr0


C. 

D. None of these

Answer: A

Watch Video Solution

x = 2, y = 1

4. 20th term of the A.P.

 is :

A. 66

B. 

−10, − 6, − 2, 2, ..........

−66

https://dl.doubtnut.com/l/_VNaJSAWAjlr0
https://dl.doubtnut.com/l/_jtTr0xMD10Tk


C. 77

D. None of these

Answer: C

Watch Video Solution

5. Find the common difference of the A.P. 2, 7,

12, ............ .

Watch Video Solution

https://dl.doubtnut.com/l/_jtTr0xMD10Tk
https://dl.doubtnut.com/l/_7Xeek97DP09y


6. Fill in the blank using the correct word given

in the bracket. 

Two polygons of the same number of sides are

similar, if their corresponding sides are ........... .

(equal, proportional)

View Text Solution

7. In a traingle, if square of one side is equal to

the sum of the squares of other two sides,

then the angle opposite the fitst side is :

https://dl.doubtnut.com/l/_zj8sb76MyLuQ
https://dl.doubtnut.com/l/_1zYIWE5t56AT


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

60∘

90∘

45∘

30∘

8. Fill in the blank : 

A tangent to a circle intersects it is .........

Point(s).

https://dl.doubtnut.com/l/_1zYIWE5t56AT
https://dl.doubtnut.com/l/_DMw9l4c5puv0


View Text Solution

9. Find the distance between the points (5, 7)

and (1, 3).

Watch Video Solution

10. Find the midpoint of the line joining the

points (1, 3) and (3, 5).

Watch Video Solution

https://dl.doubtnut.com/l/_DMw9l4c5puv0
https://dl.doubtnut.com/l/_BgiB16Zzs6Bp
https://dl.doubtnut.com/l/_zC3TV9uFRJv4
https://dl.doubtnut.com/l/_gOF0uor73BN0


11. 

Watch Video Solution

tan 65∘

cot 25∘

12. In , right angled at B, AB = 21 cm and

BC = 20. The value of  is :

A. 

B. 

C. 

D. .

ΔABC

sin A

21

29

20

21

20

29

21

20

https://dl.doubtnut.com/l/_gOF0uor73BN0
https://dl.doubtnut.com/l/_BdeZQwQOkYfg


Answer: A

Watch Video Solution

13. Find the area of a sector of a circle with

radius 4 cm, if angle of the sector is

Watch Video Solution

30∘ . (π = 3.14)

14. The volume of the cuboid, whose length,

breadth and height are 10 m, 8 m and 6 m

https://dl.doubtnut.com/l/_BdeZQwQOkYfg
https://dl.doubtnut.com/l/_aeUvS3eaXm5A
https://dl.doubtnut.com/l/_VKmitOzURB0e


respectively is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

510m3

560m3

480m3

400m3

https://dl.doubtnut.com/l/_VKmitOzURB0e


Set A Section B

15. Find the probability to getting a head when

a coin is tossed once.

View Text Solution

1. Show that  is irrational.

View Text Solution

5 − √3

https://dl.doubtnut.com/l/_aPDhxi5pkcAT
https://dl.doubtnut.com/l/_mO0fkKdimPPn


2. A ladder is placed against a wall such that

its foot is at a distance of 2.5 m from the wall

and its top reaches a window 6 m above the

ground. Find the length of the ladder.

View Text Solution

3. If A, B and C are interior angles of a triangle

ABC, then show that .

Watch Video Solution

sin( ) =
B + C

2

cos A

2

https://dl.doubtnut.com/l/_riq5l5rxBCO5
https://dl.doubtnut.com/l/_1sAAe3lRWTBl


Set A Section C

1. Solve the following pair of linear equations

by substitution methods. 

. 


Watch Video Solution

8x + 5y = 9

3x + 2y = 4.

2. Find two consecutive positive integers, sum

of whose square is 365.

View Text Solution

https://dl.doubtnut.com/l/_Zmgkfw2QOnoT
https://dl.doubtnut.com/l/_BQsl2NdUCj2F


3. Find the sum of first 22 terms of an A.P. In

which d = 7 and 22 nd term is 149.

Watch Video Solution

4. Find the ratio in which the segment joining

the points  is

divided by the point .

Watch Video Solution

A( − 6, 10) and B(3, − 8)

( − 4, 6)

https://dl.doubtnut.com/l/_BQsl2NdUCj2F
https://dl.doubtnut.com/l/_K1V5SjemED7a
https://dl.doubtnut.com/l/_rDsGfMYpwEV1


Set A Section D

1. A motor boat whose speed is 18 km/h in still

water takes 1 hour more to go 24 km upstream

than to return down stream to the same spot.

Find the speed of the stream.

View Text Solution

2. The angle of elevation of the top of a tower

from a point on the ground which is 30 m

https://dl.doubtnut.com/l/_gYNr2gcfWD9Z
https://dl.doubtnut.com/l/_jJttovDQi7rF


away from the foot of the tower is . Find

the height of the tower.

View Text Solution

30∘

3. 

Watch Video Solution

+ = 2 sec A
cos A

1 + sin A

1 + sin A

cos A

4. A toy is in the form of a cone of radius 3.5

cm mounted on a hemisphere of same radius.

https://dl.doubtnut.com/l/_jJttovDQi7rF
https://dl.doubtnut.com/l/_oTp5mtmL55cb
https://dl.doubtnut.com/l/_inQlcCLZgV90


Section A

The total height of the toy is 15.5 cm. Find the

total surface area of the toy.

Watch Video Solution

1. Express 0.375 in the form 

Watch Video Solution

.
p

q

https://dl.doubtnut.com/l/_inQlcCLZgV90
https://dl.doubtnut.com/l/_LnJZOQW9ZKif


2. Find the sum of zeroes of quadratic

polynomial .

Watch Video Solution

x2 + 7x + 10

3. Find the common difference of the A.P. : 

Watch Video Solution

3, 1, − 1, − 3, .......

https://dl.doubtnut.com/l/_ppbyRIXpvTh5
https://dl.doubtnut.com/l/_XtHpL0zDR4xg


4. From a point Q, the length of the tangent to

a circle is 24 cm and the distance of Q from

the centre is 25 cm. The radius of circle is :

A. 15 cm

B. 12 cm

C. 24.5 cm

D. 7 cm.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JZvTYTqS2lBK


5. Find the distance between the points (2, 3)

and (4, 1).

Watch Video Solution

6. Find the mid point of the line joining the

points .

Watch Video Solution

(7, 6) and ( − 3, − 4)

https://dl.doubtnut.com/l/_Ycjsx7rdlquV
https://dl.doubtnut.com/l/_XzNoKB5VPEti


7. In , right - angled at B, AB = 24 cm, BC

= 7 cm. The value of  is :

A. 

B. 

C. 

D. None of these.

Answer:

Watch Video Solution

ΔABC

sin A

7
25

7
24

24
25

https://dl.doubtnut.com/l/_NpREz3YZznVu
https://dl.doubtnut.com/l/_V6AFAUemoRFw


8. The volume of the cuboid, whose length,

breadth and height are 12 m, 10 m and 8 m

respectively is :

A. 

B. 

C. 

D. None of these.

Answer:

Watch Video Solution

592m3

960m3

480m3

https://dl.doubtnut.com/l/_V6AFAUemoRFw
https://dl.doubtnut.com/l/_ewZu07aKTRFd


Section B

9. Two dice are thrown at the same time. Find

the probability of getting the sum of the dice

is 8.

Watch Video Solution

1. Find the circumference of a circle whose

area is .

Watch Video Solution

6.16cm3

https://dl.doubtnut.com/l/_ewZu07aKTRFd
https://dl.doubtnut.com/l/_cOtlHIr4Ne9e


Section D

1. A tower stands vertically on the ground.

From a point on the ground, which is 15 m

away from the foot of the tower is found to be

. Find the height of the tower.

Watch Video Solution

60∘

2. Prove that : 

.

Watch Video Solution

(cosec θ − cot θ)
2

=
1 − cos θ

1 + cos θ

https://dl.doubtnut.com/l/_ztZVaHXBgFgR
https://dl.doubtnut.com/l/_jgTRvvs2Mnc3


https://dl.doubtnut.com/l/_jgTRvvs2Mnc3

